
MEDICAL SCIENCE 

]  Time Allowed : Three Hours] ]Maximum Maks : 300\ 

INSTRUCTIONS 

Each question is printed both in Hindi and 
in English. 

Answers must be written in the medium 
specified in the Admission Certificate issued 
to you, which must be stated clearly on the 
cover of the answer-book in the space 
provided for the purpose. No marks will be 
given for the answers written in a medium 
other than that specified in the Admission 
Certificate. 

Candidates should attempt Questions no. 1 

and 5 which are compulsory, and any three 

of the remaining questions selecting at least 
one question from each Section. 

The number of marks 
question is indicated at 
question. 

Wherever required, the candidates may use 
coloured pencils for drawing sketches and 
diagrams in the answer book. 
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SECTION A 

1. Answer any five of the following : 

(a) Explain the origin and course of Facial Nerve. 

Describe its functional components and 

distribution. What is Bell's palsy and give the 

anatomical reasons for the presenting signs? 4+6+2=12 

(b) Describe the blood supply and lymphatic drainage 

of stomach. Add a note on the applied 

both. 

anatomy of 

9+3=12 

(c) Define sleep. Write briefly on architecture of a 

sleep cycle. What are the variations in it with 

age ? 3+5+4=12 

(d) Write the steps in lactation. What are 

advantages of breast feeding ? 

the 

3+9=12 

(e) How are deletions in 'gene causing diseases' 

detected ? Explain in terms of Duchenne Muscular 

Dystrophy (DMD). 12 

D) Chronic renal failure leads to Osteodystrophy. 

Outline the chain of events. 

2. (a) Describe the ventricles of brain. Add a note on the 

circulation of CSF. Mention the usual site of 

collection of CSF and state the anatomical reason 

12 

for selecting this site. 14+4+2=20 

(b) Describe the development of heart chambers. 

Mention the common congenital anomalies and 

explain the developmental reasons for them. 14+6=20 
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1. frfefiaa ~ ~ fa{j qi ~ sat ~ .  
() 3nH ifa ~ samm di a al rem.a? 1  3a 

f5arras real ui firetor at auf a?? I ~a 

3irera aan ~ sit sq~ eafa fei ~ sfa 
aai al antsn a 1 4+6+2=12 

() 3mar zs or aan ala faa ar auf. 

at I i ~ 3rye rt zaa feta feuof 

f t  9+3=12 

() fa as qfvf~a at fa a alt aat situ 

ij f~ su s ~ ra a fa#a zfia R 
$ 2 
6 3+5+4=12 

() drear ~ au at scfga at a tu ~ 
ar-aar arr ~ 2 3+9=12 

(s) 'sf aa ?j' ii fea at aar ~~ al st ~ ?2 

sat gs?la gnl 3rfaara [Duchenne Muscular 

Dystrophy (DMD)y ~ ief ii nee at 1 12 

() favent are a ~ sfear-gilur 3era la ~ t 

gi afea ? ad fafae Eaasji at jtaen at 

a e@a a' ' _  12 

2. (a) fear ii aufa fie~mi a aofa a?N I CSF 

f i r  qz  feuuft fee~d 1 as er a-a ~ sai 
CSF Ira: afa ~lat ~ srt rat ea fea 
al qfi ~ ze car g= at sru arad 1  14+4+2=20 

(n) e ale ~ ufafa a auf at I  gu ? ae 
3 sH=re 3rife~ii at ae~fiaa at 3t aa~ 

qfiafa aai at szne at 1 14+6=20 
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(c) Describe the gross anatomical features and 

relations of kidney. Explain its arterial supply and 

vascular segments. Add a note on the development 

of kidney. 10+5+5=20 

3. (a) What is the role of ADH in maintaining the plasma 

osmolarity and volume ? What will happen in its 

deficiency ? 8+8+4=20 

(b) Write the morphology of red blood corpuscles. List 

the factors required for their formation and 

mention how tbe shape is advantageous. 5+10+5=20 

(c) Enumerate the functions of cardiovascular system. 

What will happen if valves would not have been 

there ? 15+5=20 

4. (a) Substantiate the following statement 

"Deficiency of a trace element leads to diminished 

glucose tolerance." 

(b) The use of oral contraceptives appears to increase 

the requirement of a vitamin. Which vitamin is 

involved ? Explain why. How is this identified 

clinically ? 

(c) Explain : 

20 

20 

() Non-standard am1no acids and their 

biological functions. 

(ii) Importance of enzyme assay to assess liver 

C-DTN-K-NTA 
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(D) seas at aaa x a azn mat ziaii at aofa 
at 1 3~ z ur (e~a) g os (iaaa) 
j at sen at t aaa ~ ufaf qt feauj 
fes 1 10+5+5=20 

3. () el.am at aafat azn snzaa at sau ua ii 

ADH al aan fa ~ ? ADH a at fefe ii 

ant am ? 8+8+4=20 

(a) eitfia (ale) a afrarsii at 3naf@at ~ fare 

ii fr~ t a ~  ffur ~ feu mas«a eat at ~ 
qt ~ ant aa aard f s=a flu 3rare as an 

aHrx ~ 1 5+10+5=20 

() e-afar ti ~ azf at fiad 1 afe aea a 
rt et agar an qfiomr er ? 15+5=20 

4. (a) fr=fife agra at srfrfi at • 2o 

"Ta u are at la real sear at aRl 

~ e '  
() «t-ff~ea a an fr~t ue frefira a5l 

ge sra?am afe ~ ma ~ 1  as fefira 
a-a ~ sit g«at sravzaa aa. ~ dl~ aaz 
alur ~ ? sen ad 1 zeaur «ax seal 

ara ~~ al st ~ ? 2o 

(D) G 3Hr-a tit 3iii sit a=~ faa sir~f al 

on a t  

(ii) 
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3Hu ~ zer at ants at ; 
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SECTION B 

5. Attempt any five of the following 

(a) Discuss the role of FNAC and biopsy in the 

diagnosis of neoplasms of Breast. Briefly mention 

the different histopathological types of breast 

carcinoma. 6+6=12 

(b) What are the predisposing factors in the etiology of 

oral cancer? Briefly describe the malignant lesions 

that are likely to affect the oral cavity. 6+6=12 

(c) Name the SHIGELLA species causing diseases in 

man. Describe the pathogenesis of Bacillary 

dysentery. What are the laboratory procedures in 

the diagnosis of Bacillary dysentery ? Mention how 

laboratory findings in Bacillary dysentery are 

different from those of Amoebic dysentery. 12 

(d) Discuss the mechanism of action of the following 

drugs : 

(i) Rosiglitazone 

(ii) Chloroquine 

Gii) Cyclosporin 

(iv) Lovostatin 

12 
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5. f=fefaa i ~ fa= i ~ sat ~ . 

() < arfe ~ fea # FNAc an aran a 

fiat al fa@at at t ea af ~ fafra 
aaaafasfa semi ~ faua ziu ii f~ 1 6+6=12 

() a ~at at ~est al-al ~ ara dafa 
~ ? a er i aent g& fa&fir~ a it 

# afa ° ' s  a». .  °-v 
() Haer ~ ~n er au? aet fire snfa a = 

fed t estar sf@a ~ zs a aofa at t 

evemfa srf~art a fea au ~ fu ast-ml 
sratsmenr fad a ii ant sn ~ ? euer 
3rfear an 3rat 3fat ~ «a annal 
aria-q~uj ~ ufiumi ii an-aa le qra sa 

~ ? 12 

(s) fiffiaa artfrzii ~ arf a a frafaf at 

faaa at .  12 

G) zlfr@as (Rosiglitazone) 

Gi) aetzla (Chloroquine) 

Gib) qga@elf (Cyclospori) 

Gv) lafea (ovostatin) 



6. (a) Define Cirrhosis of Liver. Classify the different 

cirrhotic conditions of the liver. Discuss the 

etiopathogenesis and pathology of primary biliary 

cirrhosis. 3+6+3+3=15 

(b) What are the possible contributing factors in the 

genesis of Bronchogenic Carcinoma ? Briefly 

describe the pathologic features of the different 

carcinomas of the bronchus. What are the problems 

15 

15 

12 

(Contd.] 

4+8+3=15 

8 

in early diagnosis of this disease ? 

(c) What are Immunoglobulins ? Classify 

Immunoglobulins. Describe their role in host 

defence against communicable diseases. What are 
the modes by which immunoglobulins act on 

antigens? 

(d) What is the etiology of Epidemic Meningitis ? 

Describe the laboratory methods in the diagnosis 

of Epidemic meningitis. Compare the laboratory 

findings with those of Aseptic meningitis. 

(e) Write about the clinical status (use) of the following 

drugs :  12 

(i) Tamoxifen 

(ii) Cis-platinum 

(iii) Griseofulvin 

(iv) Chloramphenicol 

(D) Enumerate the various types of injuries. Describe 

the injuries produced by a sharp weapon. 
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(s) ffafaa 3ilsfra at aelfrae feerfa (a) ~ 
fa u 2 ii f~ . 12 

G) at (Tamoxifen) 

i) f-ufe (Cis-platinum) 

Gin) ff3gpfca (Griseofulvin) 

Gv) ant;fat (ChloramphenicoD) 

(er) fafra at ~ fr at fiasu I ~s a? 

mfr Rt ~ a srfai as aufa a 1 12 

6. (a) a fufa ast ffia a 1 3a alt fafra 

fRlfea ans as affaa a 1 rafie ~fa 
fhfea ~ ~a-fafsraa an fa3fa fas at 
fr~ea at 1  3+6+3+3=15 

() vans= afa ~ saa ii feat-fa aas a 

ifae su ~ znaa ~ ? am i a~ 
fafr sat ~ arfm at fafa fsa fear3ii 

a ti?iu ~i afa at 1 ga ~ ~ 3nifra 3rcn 

ii fea au? ii aan qeqd ~ ? 4+8+3=15 

() sirenlafer an ~ ? grilentafer at aifaa 
at I iar mi ~ fa& n ganr ~ 3=al 
fiat a auf a t gravelafka fee-fa an 
~ fesrii sr aR ~ ? 15 

(w) sufea nfasaracuiz a Rast aa ~ ? 

g a r eam  ~ a~ fe au ~ an ~ er s. 
an fafiraii at aufa at sn.fee 
rfesaravrt aar 3rfea mfasausia ii 

s a t  ~  s  ra  are~t  fas?lats at 
@ea at 1 15 
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20 

20 

20 

7. Write about the differences between the following 

drugs 15x4=60 

(a) Aspirin and Paracetamol 

(b) Nitroglycerin and Verapamil 

(c) Prazosin and Atenolol 

(d) Captopril and Losartan 

8. (a) Describe the mechanism of injuries sustained by a 

pedestrian on being hit by a four-wheeler. 

(b) How will you plan to collect and preserve the 

samples for DNA profiling and other tests in a case 

of mass disaster having mutilated and 

dismembered bodies ? 

(c) Describe the signs, symptoms and treatment of 

acute parathion poisoning. 
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7. ffefisa sflufuai ~ ala ru sr ar sia~ ~ 
fa4sra ii fes : 154=60 

(a) ~ff az uReie 

(a) =g2freq~a aan ~fire 

() sit~la aa @2ieira 

() ~ala men «lard 

8. («) arc-fear-aea ~t eaa a z ea aa ~ 
efs at it al al frufafu at aufa at t 20 

(a) If@e 3mer ~ fumaur fisfrin mean fife 

gt ~ ~ DNA.fs~fear ti sra sia-~ii ~ 
fau 3nu ~~ = t aar sa aai ai ~~ 
qfra @ ? 20 

() Ha ufrei faa ~ fe, arr an 3a a 
aof at 1  20 
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Note : English version of the Instructions is printed on 

the front cover of this question paper. 

] gfa  ·  3oo 

ff fas 

3r3Rs1 

sea ea fa=A sik sin aa tmr ~ I 

gs= a~ 3 €zn ~ f~ an emf~ 

frerar 3ea am gar-qa far mar ~ 

3m RH 7am ar cc 3ea 3-gaa ~ 
go 3ifs ffse en q fa mr­ 

amfv t asr-qr q ffea mean 3ff 

3r7 f ea fr~ n a q a 3ja 

fen t 

ger ian 1 3ik s 3far&f t ara ss) 
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e ~ t  
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